
GP Code Description Qty Page # Notes

GP1000 Steering Connecting Rod 1

GP1003 1/8" AF Allen Key 1

GP1004 Roll Pin 4

GP1006 M5 x 10mm Button Head Screw 14

GP1034 Battery Isolator 1

GP1039 5 Amp Blade Fuse 6

GP1040 Brake Cable 2

GP1042 Brake Caliper 2

GP1042 Brake Disc 2

GP1043 Brake Light 1

GP1044 Brake Light Braket 1

GP1045 Brake Light Microswitch 1

GP1055 Horn 1

GP1057 Sproket/Wheel Hub 2

GP1058 Axle Bearing 2

GP1059 Axle Sproket 1

GP1060 Battery Clamp Strip 1

GP1064 Brake Lever 1

GP1065 Brake Light Switch Bracket 1

GP1066 Chain & Link 1

GP1067 Chain Guard 1

GP1070 Plastic Component box Containing 1



GP1074 Lower Wishbone - pair 1 Left - GP1072, Right - GP1073

GP1077 Stub Axle swivel hub - pair 1 Left - GP1075, Right - GP1076

GP1080 Top Wishbone - pair 1 Left - GP1078, Right - GP1079

GP1082 Innertube 4

GP1085 Electrical Block & Loom 1

GP1105 Motor Mounting Plate 1

GP1106 Motor Sproket 1

GP1107 Axle 1

GP1108 Rim tape pair 2

GP1109 Steering Column 1

GP1110 Steering Column Bearing 2

GP1112 Steering Wheel 1

GP1113 Steering Wheel Hub 1

GP1114 Torsion Strut 2

GP1115 Tyre 4 20 x 1.75,  Rated 65 psi or less

GP1116 Rim 4

GP1118  Foam - 1200 x 250 x 25 mm 3

GP1120 Harness 1

GP1121 Fuse box 4 Way 1

GP1122 Fuse Strip Link - pack of 10 1

GP1123 Fuseholder 1

GP1187 Gromment 6

GP1189 Styrofoarm LBH-X Board 1

GP1190 M4.5 Battery Pin 2

GP1192 M10 Nyloc Nut 8

GP1194 M10 Spring Washer 6



GP1195 M10 x 20mm Hex Head Screw 2

GP1196 M10 Penny Washer 12

GP1199 M10 x 40mm Socket Head Screw 6

GP1200 M10 x 50mm Socket Head Screw 2

GP1208 M3 Nyloc Nut 4

GP1209 M3 x 20mm Slot Head Screw 4

GP1210 M3.2 x 10mm Pop Rivet 53

GP1212 M5 Nyloc Nut 6

GP1213 M5 Spring Washer 24

GP1214 M5 x 20mm Socket Head Screw 17

GP1215 M6 Nyloc Nut 12

GP1216 M6 Washer 26

GP1217 M6 x 12mm Socket Head Screw 8

GP1219  M6 x 20mm Hex Head Screw 12

GP1227 M8 Nyloc Nut 59 3

GP1230 M8 Washer 83 3

GP1231 M8 Nut 25

GP1232 M8 x 16mm Grub Screw 2

GP1233 M8 x 20mm Screw 21 3

GP1235 M8 x 25mm Socket Head Screw 2

GP1236 M8 Penny Washer 12

GP1237 M8 x 30mm Screw 16

GP1238 M8 x 50mm Bolt 20

GP1246 Mirror 2

GP1248 Motor 1 Motion Tech DCA5N24200DL000

or Type 105ZDY08



GP1261 Push Button 2

GP1264 Relay 1

GP1266 Ring Terminal 6 mm 1

GP1268 Ring Terminal 8 mm 1

GP1269 Rod End Female 4

GP1270 Rod End Male 8

GP1274 Siemens Solid Edge Poster 1

GP1277 Information USB Stick 1

GP1281 Batteries 6 Interstate DCM0035, Yuasa REC36

GP1289 F24 Switch Mount Plate 1

GP1290 Load Spreader Plate 4

GP1314 M6 x 20mm Cap Head Screw 2

GP1325 Rear Axle Bracket - pair 1 Left - GP1102, Right - GP1103

GP1328 Foam 585 x 320 x 10 mm 1

GP1398 F24 Chassis - Rear 1 3

GP1399 F24 Chassis - Front 1 3

GP1400 F24 Floor - Front 1

GP1401 F24 Floor - Rear 1

GP1406 Wheel Cone (pair) 2

Note:  Open items are as determined by

the Team, but Safety must be close to 

that of a Stock Class car.



Supplier Stock Alternate Part M and C Part

M 8 x 1.5 All-thread Rod M - Stock;  C - Open

F24 Component

Suggest 1/4" Grade 8 Bolt {  same

F24 Component See Addendum Open, per Rules

Open, per Rules

F24 Component Bicycle Shop open, per Rules

F24 Component Open, per Rules

F24 Component Bike Shop or Amazon Open, per Rules

F24 Component Open, per Rules

F24 Component Open, per Rules

F24 Component Open, per Rules

F24 Component 12 volt horn will work Open, per Rules

F24 Component Open, per Rules

F24 Component SB205 bearing, PFL205 housing M - Stock;  C - Open

F24 Component Open

Turncliffe Engineering M - Stock;  C - Open per Rules

F24 Component Amazon, dual cable Open, dual cable

Turncliffe Engineering Open

F24 Component # 06B Open

Turncliffe Engineering Open, per Rules

F24 Component



Turncliffe Engineering M - Stock;  C- Open

Turncliffe Engineering M - Stock;  C - Open

Turncliffe Engineering M - Stock;  C - Open

20 x 1.75, Bicycle Shop

F24 Component Open

Turncliffe Engineering M - Stock; C - Open

F24 Component Open

Turncliffe Engineering M - Stock;  C - Open

Turncliffe Engineering C - Open

F24 Component SB203 Bearing, PHL203 Housing

Turncliffe Engineering 11", see Addendum Open

Turncliffe Engineering

F24 Component M - Stock;  C - Open

20 x 1.75 bike shop, 65 PSI Max M - Stock;  C - Open per Rules

M - Stock;  C - Open per Rules

F24 Component Open

F24 Component Open, per Rules

F24 Component Open, per Rules

F24 Component Open, per Rules

F24 Component Hardware store  { same



F24 Component See Addendum, All Classes { same

F24 Component Motion Tech DCA5N242002DL000 { Same

or Type 105ZDY08



F24 Component Stock or Amazon, 19 mm Momentry M & C, Stock and/or Variable Speed Control

F24 Component Durity 0-727-08, Amazon All Classes Durity 0-727-08, 24 Volt,  100 Amp

F24 Component

F24 Component

8 mm M - Stock,  C - Open, Amazon, etc.

8 mm M - Stock,  C - Open, Amazon, etc.

F24 Component

F24 Component

Stock Only ALL,Interstate DCM0035, Yuasa REC36

Turncliffe Engineering

Turncliffe Engineering

Turncliffe Engineering M-Stock;  C - Fabricate

Turncliffe Engineering M- Stock;  C-Fabricate

Turncliffe Engineering M- Stock;  C- Fabricate

Turncliffe Engineering

Turncliffe Engineering

S = Stocl Class

M = Modified Class

C  = Custom Class


